4T

X X X X

—_ -_8__@ - 2 B -
= o | oAl
= -
LBt T = 6=1€ > o= 3sec
| ((8?5 neptue {99’2}5) o
b) 00s ithve €& = Courker f_’_l?Ck wise

3""‘7.___@2) = ‘o < w
© EXN *6 so obose

525 _X=5.o

| %:;3;': E%ﬁcsBS%:Eﬂ\/

Pl

@Qx Fncmeo’ C[OC}Zw[S@ = posi hue here
Lrie D T= BV
N éﬁ S I v )
(R / P=T% tBle
N £ deca g
(U)L C\”\&B‘hj




A= .3271 me
N=5x1o*

. =9m

», O=72|0 h=
k‘gO,D, G
IS I 5|WQ+ B ,(/(0\_,__[’ S\?nLO+

= "M A a e_n\)e evL F he m{ea
50 Ug ( e &Ou O’él ea!?fa &i:a_ wff;e he "
wba%%; is [the Sb[enaol a(oe.s‘ n@ Q‘Uﬂ“) A

awd Hose wzl\ acl 0( h .cemgS <

u I wguo = LOM’Z_AT COSC‘Q+>
b) Ton, ~;- 1  Vr B |

90 if Sm(ioJr) t| cosft)=o0
26) 0B = 450 uT/ns = L(SOxlo“3T/5

_ B =
- /s/Ag_,F N 5(00(2




- 7:/) ,:_ﬁ:"avli

——

¢, = JQXB b :,QB X = 0BV
—~-QBV > T = -LBJ

Q’Lﬁ mcn:’aSﬂy in down olrec&on =) \2 CWRH’ is @M\‘er‘dacku%c V

bu& , m&@rtﬂe_ Geds W] ecert forces on wires
with curren+

'F",EIB -—ﬁ 8\/ =mdV

h we cw use Yo sphe for VC4> et
OQ WwWe  note 'Hl&f} otoer W= power out

2. .
= M'LR 118 \ll aSSuming constan + v

Z_q) g ——

> \/ gne? =&~ABv
&V —) I ~ “fVLB\f
%—W@ F""‘QB CS LBV)

F=0 when LBy -—-»8 aFfer which Hme He
Speed w0l| novL’ chage % dhere s o Mmorefore

\/:2% ;; ;ﬁﬁqﬁi pﬁ“’“ g1kl | (in ng) ‘ He




P e
50,? X \(L 49\/
T —
| - lo - -
= VB > T = '}l.\z.B,

ﬂB 4:@”73 V  So the 552
IS fesistor @cceknies
Cl'@k’f’ Hhe [OD@'!(

LOL\Q/T\ \JS =\ D@ — (afeq,‘ ot lap

no lopger chay )y
o PO e P )

SR ety amme ooy s m\g \;ec )
¥ xrx* (i a W@; moving ”?('0 H&F}e@

K KX

F=1g+ = * v
| 9+ wIB =g +e B
50 (,J\\en \ = % -0

c) Og,uhkr CLDOV\ wise | - | ,?
DG Ton S o
é@ = ‘Lnrﬁ!g gl =

4 ggf _ BZZrC&)Ar
)= Imt065(+) 7BV b By




